< 00, > (M)

RatioI

<op/p. > (70)

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

..........................

HE3

"
+

1 TPlpoT (PCA

3
Hheamiindf

< dcotl>)
o
=
a1

-0.15fF -+~ 1+

..............................

Ratio

0.5

i
+

=
o
iN

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch0O

100

[y

o
o1

[ay
o
I8

T2

[y

0.8
0.6

1071

TP:I'F?T (PCA

: 2 3
t%)obeamlin%)o

100

—~

|
N
o
T T T [ T TT T[T [ TI T[T [ TT T [ TT T[T [T TT[TTI[TITT

p
R AR Y N I
..... P S
R L L b ] L

1% "T'T" B S e

. <+
IR S 1§ PRIt N I Y L el PR R
ES :
4 +

1

2 3
TPlp?T (PCA tjbobeamliné'f)




	Contents
	Page 1


